lvcv06 1

FRAME 708D T30

Plan No. / Plannr.

E000492/F

Scale/Schaal: 1:6 | Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd
Date / Datum 11/08/2008 | 29/03/2017 | 29/03/2017
Init. / Init JS SV PJ




Material / Materiaal

No. Plan Article / Artikel | Number

X000582 1005740 1

X002131 1992422 (L) 1

X002130 1992421 (R) 1

3 X002132 1992423 1
4 X002163 1488100 1
5 X002169 1992791 1
6 X003596 1998528 1
7 XP00094 2990044 1
8 XP00095 2990045 1
9 X003579 1998414 2
10 Y010203 18111.. (L) 1
Y010207 18112.. (R) 1

11 ®2x12 DIN1475 1992597 1
12 fork platsic 1991447 1
13 | M8x76 DIN7984/8.8 1998993 1
14 Nut M8 1998994 1
15 M12 DIN127A 1001572 1
16 M6 DIN125A 1001564 2
17 M12 DIN985 1001684 1
18 M12 1003294 1
19 | M12x100 DIN931/8.8 1009034 2
20 M6 DIN985 1001680 1
21 M6x12 1008492 1
22 M6x45 1991017 1
23 X005513 1992600 1
24 ®4.8x22 DIN7981 2990070 2
25 X001293 1400504 1
26 X001294 1400604 1
27 X001309 G051800 1
28 X001308 G051700 1
29 Wheel 200x50 PU 1900184 1
| 30 XC00414 3991378 1

Plan No. / Plannr.

FRAME 708D T30 —
Scale /Schaal: 1:6 | Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd \\\V/’/
Date / Datum 11/08/2008 | 29/03/2017 | 29/03/2017
Init. / Init. JS SV PJ 22




